COUNTY OF NEVADA

DEPARTMENT OF PUBLIC WORKS CONTRACT NO. 229620 FEDERAL CONTRACT NO. CMLL-5917 (070)

THIS AGREEMENT, made and concluded, in duplicate, between the County of Nevada thereof, party of the first part, and **Baldwin Contracting, Inc., DBA Knife River Construction**, Contractor, party of the second part.

ARTICLE I.--WITNESSETH, That for and in consideration of the payments and agreements hereinafter mentioned, to be made and performed by the said party of the first part, and under the conditions expressed in the 2 bonds, bearing even date with these presents, and hereunto annexed, the said party of the second part agrees with the said party of the first part, at his own proper cost and expense, to do all the work and furnish all the materials, except such as are mentioned in the specifications to be furnished by said party of the first part, necessary to construct and complete in a good, workmanlike and substantial manner and to the satisfaction of the County of Nevada, the work described in the special provisions and the project plans described below, including any addenda thereto, and also in conformance with the California Department of Transportation Standard Plans, dated May 2006 the Standard Specifications, dated May 2006 and the Labor Surcharge and Equipment Rental Rates in effect on the date the work is accomplished, which said special provisions, project plans, Standard Plans, Standard Specifications, and Labor Surcharge and Equipment Rental Rates are hereby specially referred to and by such reference made a part hereof.

The special provisions for the work to be done are entitled:

COUNTY OF NEVADA; DEPARTMENT OF PUBLIC WORKS SPECIAL PROVISIONS, BIDDING AND CONTRACT DOCUMENTS FOR

Newtown Road Class II Bike Lane Project

IN

NEVADA COUNTY

The project plans for the work to be done were approved March 22, 2016 and are entitled:

COUNTY OF NEVADA; DEPARTMENT OF PUBLIC WORKS PROJECT PLANS FOR

Newtown Road Class II Bike Lane Project

IN

NEVADA COUNTY

Newtown Class II Bike Lane Project

ARTICLE II.--The said party of the first part hereby promises and agrees with the said Contractor to employ, and does hereby employ, the said Contractor to provide the materials and to do the work according to the terms and conditions herein contained and referred to, for the prices hereinafter set forth, and hereby contracts to pay the same at the time, in the manner and upon the conditions herein set forth; and the said parties for themselves, their heirs, executors, administrators, successors and assigns, do hereby agree to the full performance of the covenants herein contained.

ARTICLE III.--The State general prevailing wage rates determined by the Director of Industrial Relations are hereby made a part of this contract. It is further expressly agreed by and between the parties hereto that should there be any conflict between the terms of this instrument and the bid or proposal of said Contractor, then this instrument shall control and nothing herein shall be considered as an acceptance of the said terms of said proposal conflicting herewith.

ARTICLE IV.--By my signature hereunder, as Contractor, I certify that I am aware of the provisions of Section 3700 of the Labor Code which require every employer to be insured against liability for worker's compensation or to undertake self insurance in conformance with the provisions of that code, and I will comply with such provisions before commencing the performance of the work of this contract.

ARTICLE V.--And the said Contractor agrees to receive and accept the following prices as full compensation for furnishing all materials and for doing all the work contemplated and embraced in this agreement; also for all loss or damage, arising out of the nature of the work aforesaid, or from the action of the elements, or from any unforeseen difficulties or obstructions which may arise or be encountered in the prosecution of the work until its acceptance by the NEVADA COUNTY DEPARTMENT OF PUBLIC WORKS, and for all risks of every description connected with the work; also for all expenses incurred by or in consequence of the suspension or discontinuance of work and for well and faithfully completing the work, and the whole thereof, in the manner and according to the plans and specifications, and the requirements of the Engineer under them, to wit:

BID ITEM LIST – CONTRACT NO. 229620 / FEDERAL CONTRACT NO. CMLL-5917(070)								
ITEM	ITEM DESCRIPTION	UNIT OF	ESTIMATED	ITEM	TOTAL			
NO.	ITEM DESCRIPTION	MEASURE	QUANTITY	PRICE	AMOUNT			
1.	TRAFFIC CONTROL	LS	1	\$180,000.00	\$180,000.00			
2.	CLEARING & GRUBBING	LS	1	\$65,000.00	\$65,000.00			
3.	CONTRACTOR SUPPLIED BIOLOGIST	LS	1	\$5,000.00	\$5,000.00			
4.	CONSTRUCTION STAKING	LS	1	\$19,440.00	\$19,440.00			
5.	EARTHWORK (Final Pay)	СҮ	1700	\$60.00	\$102,000.00			
6.	ASPHALT CONCRETE (Type B)	TON	1300	\$95.00	\$123,500.00			
7.	AGGREGATE BASE (Class 2)	СҮ	2230	\$65.00	\$144,950.00			
8.	IMPORTED BORROW	СҮ	1200	\$30.00	\$36,000.00			
9.	CULVERT PIPE (36" HDPE)	LF	94	\$256.00	\$24,064.00			
10.	CULVERT PIPE (24" HDPE)	LF	197	\$124.00	\$24,428.00			
11.	CULVERT PIPE (18" HDPE)	LF	26	\$94.00	\$2,444.00			
12.	CULVERT PIPE (15" HDPE)	LF	128	\$140.00	\$17,920.00			
13.	CULVERT PIPE (12" HDPE)	LF	180	\$100.00	\$18,000.00			
14.	DRAIN INLET (30")	EA	1	\$3685.00	\$3685.00			
15.	CONCRETE HEADWALL	EA	2	\$8,070.00	\$16,140.00			
16.	AC DIKE (Type A)	LF	1060	\$7.00	\$7,420.00			
17.	AC PAVED DITCH	LF	1575	\$15.00	\$23,625.00			
18.	AC PAVED TRAP DITCH	LF	311	\$18.00	\$5,598.00			
19.	AC "V" DITCH	LF	100	\$11.00	\$1,210.00			
20.	AC OVERSIDE DRAIN	EA	3	\$100.00	\$300.00			
21.	AC DRIVEWAYS	SF	7220	\$6.00	\$43,320.00			
22.	ROCK SLOPE PROTECTION (No. 1)	СҮ	11	\$355.00	\$3,905.00			
23.	ROCK SLOPE PROTECTION (No. 2)	CY	15	\$355.00	\$5,325.00			

24.	INSTALL NEW SIGNS	EA	10	\$268.00	\$2,680.00	
25.	FENCES (WIRE)	LF	410	\$5.00	\$2,050.00	
26.	FENCES (WOOD 6-FT)	LF	60	\$25.00	\$1,500.00	
27.	LEAD COMPLIANCE PLAN	LS	1	\$2,500.00	\$2,500.00	
28.	THERMOPLASTIC ROAD STRIPING & MARKINGS	LS	1	\$10,935.00	\$10,935.00	
29.	EROSION CONTROL (SWPPP)	LS	1	\$15,000.00	\$15,000.00	
30.	AC OVERLAY 0.15'	TON	1400	\$95.00	\$133,000.00	
31.	FABRIC	SF	2000	\$0.20	\$400.00	
32.	2" TO 3" CLEAN CRUSHED ROCK	СҮ	100	\$45.00	\$4,500.00	
33.	ROCK EXCAVATION	СҮ	100	\$65.00	\$6,500.00	
34.	WATER FACILITY RELOCATION	LS	1	\$3,000.00	\$3,000.00	
Construction Total in Figures		One million, fifty-five thousand, three hundred, thirty- nine and 00/100 dollars				
Constru	ction Total in Words	\$1,055,339.00				

IN WITNESS WHEREOF, The parties to these presents have here-unto set their hands the year and date first above written

APPROVED:

STATE OF CALIFORNIA COUNTY OF NEVADA

Date: _____

Date: _____

By _____ Contractor

Contractor

By _____ Chair, Board of Supervisors

Licensed in accordance with an act providing for the registration of contractors,

License No.

Federal Employer Identification

Number _____